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Physics ¢ Section-A /j
[ e Secon 7y 156

A thin spherical shell g ¢
The potential differencg beg
_"_“\:__;I'L\l"" and P (in 1) shown i, the

oo
L*\.l 1=

’fﬁ’c_ Tai\e

ce. [\5
L large by som¢ ‘”"[I ‘s KJ
Ween the W0 po

figure is:

s 9
=9x107 §; Units)

1

g=1pC

A3 %105

(3) 0.5x10°

(2) 1x105
(4) zero

Un1a

LLWP‘

The output (Y) of the glven logic gate is mmrlar
to the output of an/a :

A+ @

BA_::’)D—I_DDL

(I) NAND gate
(3) OR gate

AP

(2) NOR gate
AND gate

If the monochromatic source in \.’Ollfjg’s double
slit experiment is replaced by white light, they

(1) interference pattern will disappear.

(2) there will be a central dark fringe surroungeq

by a few coloured fringes:
(3)~there will be a central bright \‘w'lmc fringe
surrounded by a few coloured fringeg,
(4) all bright fringes will be of equal Widt,

‘c
]

In a vernier calipers, (N + ”dlm(!?::,:” Vernier
scale coincide with N divisio™ Sumu' Scale, |p
1 MSD represents 0.1 mm, the COnstany
(incm) s :

10

|
@ Too(N+1)

w.\fl ) =N (1\350)

1
()m

(3) 100N
Q4_English |

~ ! E {/C,_ .
it o | = ———
{? A~ (
Hy = 140 O -
.--—""3'_'_

The maximum elongation of a steel wire of I m

length if the elastic limit of steel and its Yo:m" 5 11
modulus, respectively, are § ~ 108 N m~ and
27 101 Nm2, is:
(1) 4mm

(3) 40 mm

(2) 0.4 mm
(4) & mm

The moment of inertia of a thin rod about an axis
passing through its mid point and perpendicular
to the rod is 2400 g cm?. The length of the 400 g

rod is nearly : ax 1l v o
(1) 85cm (2) 17.5cm 7,
(3) 20.7cm _AHy-T.0em -

A tightly wound 100 turns coil of radius
10 cm carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take

permeability of free space as 47 x1 0=’ SI units):
(1) 44mT 2) 44T

4
4W?¢!0%!&6 A ( )
At any instant of time ¢, the displacement of any
particle is given by 2t—1 (SI unit) under the
influence of force of 5N. The value of

instantaneous power is (in Sl unit): g - «J_
10 ) 5 ' T

3) 7 @) 6 ((=F3.
L2 Nyto g 0t-37

Two bodies A and B of same mass undergo
completely inelastic one dimensional collisi(;n_
The body A moves with velocity v; while body B
is at rest before collision. The velocity OF-LhL
system after collision is v,. The ratio v RARRCE
712 ) 2:1
(3) 4:1 ¢ 14
A horizontal force 10 N is applied to a block A a5
shown in figure. The mass of' blocks A and B gre

- 2kgand 3 kg, respectively. The blocks slide over

a frictionless surface. The force exerted by block
Aonblock B is ;

_ -
F=10N r— 113(
2kg | B
CELEPPP PP TP 7 77777 i
(1) zero (2) 4N
BT 6N @) 10N
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----_‘*-—u___n
d, = 8

1o X %*

A plap | 14
1
_ Clis ﬁ“‘h‘“ of'the carth and
Its diamete is |y k
accelerauo does 12alf that of the earth, The
0 gravittlon that planet is :
(D 19.6 m g2 L
(2)~ 9.8 ms—2
3) 49 m =2 1
- S -
d—"a’)q Q') nms—-
COI‘lSidel 1
identify he fO”('l\\‘lllL slmum_m\ A and B and
nuty the Correct answey :
AT
g-a
\V
Te) D
E S
1‘\[
A. Fora solar-cell. the.,j V characteristics lies
in the IV quadrant ofithe given graph.
« IO 15
B. In a reverse biased" Pn junction diode, the
current measured in (uA), is due to majority
charge carriers. - & 5‘
_ ™ L
%A is correct but B Ls'tpcorrect ,'@T

}){/ is incorrect but B s correct.

180 = L
(3) Both A and B are cnrrect

€
V/Both A and B are m@rrect 1/}{6\0’5’0‘?

A light ray enters tllruu,g,]m right angled prism at
pombt P with the angle of‘mc;dencc 30° as shown

! llel to
fig It travels throu;__ 1 the prism para
“trl ba;;eb’( and emerges alon;:,ih:. Facz. AC. The
its

refractive index of the pr!Sm is:

Sln 30 -H Sin 45

-. -

| N @ 18N g oo
T By T98mN/ [~ () 99N
e N __M_sz 5
"‘j’ leo |0

1o

JUIAE s [ zesss
™ D a LS X 1_5.

Soleno:d I ! S°len°1d 2 : T{;"‘“““

- 61 k@_‘ ..-‘ﬁ"‘g')’“ Ad
| wo 4 ¢ P
T = & .= "q__
S
Given hclnu. e,
\ »
sratement |, YO statements : ,ml' as

oms are clectrically net fi
|“'1| number of pO'v'“Vc s

tu '“F"; of each element are stable
.nmlum' Ieir ¢ Idra‘_lm““c spectrum.
In the light of the shove statements, choose the
most apProprig, answer from the options given
below : :

y (0
Both Sl“l‘"“!:ﬂt [ and Statement II are
correct, '

Both Statement | and Statement II ar€
incorreet,

Statement I i'dorrect but Statement 11 is
incorrect, )

Statement | :s[lr[correct but Statement II is
correct,

they Cﬂlll:ln
negative Lha
Statement Il

2)
(€))
4)

..!l

A thin flat circu]aré};c of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm~!, then the excess force
required to take it away from the surface is :

19.8 mN

In the above diagfaim, a strong bar magnet
moving , towards solenoid-2 from solenoid-| . The
direction of inducedgurrent in solenoid- | and that

'CS ectively 4
in solenoid-2: eSPECUVEly, are throygy, the
{1._]

directions:
(1) Apand e

@) Apand (P
(™)

() Baandcp
) Biaang DC

ving With uniform speed : .
A particle l“‘: -~ peed N acirey)y,
path mainta®® - L
mn /
(1) eeﬂ'ﬂ'"ﬂ EIPNY.
(2 f |lll .u.t.l..h’idllnl!
< nsli

(4) yaryit u.lnul) and varymg a"‘:e'ttrat,
’ 0
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Match List T with List 1.
List I
) List 11

(Spectral Lines of (W“\'clcnglllﬂ (nﬂ’”
Hydrogen for

transitions from)

A. m=3tom=2 L 4102
B. m=4ton=2 L 4341
C. m=5Stonm=2 L. 6563
D. my=6tom=2 IV. 486.1

Choose the correct answer from the options given

below :

(1) A-II, B-I, C-1V, D-III

(2) A-II, B-1V, C-11, D-I

(3) A-IV,B-III, C-1, D-IT

(4) A-L B-II, C-I11, D-IV

The quantities which have the same dimensions
as those of solid angle are :

(1) strain and angle

(2) stress and angle

(3) strain and arc

(4) angular speed and stress

An unpolarised light beam strikes a 2lass surface
at Brewster’s angle. Then
(1) thereflected light will be partially polariseq,
(2) the refracted light will be cOmpletely

polarised. .

(3) both the reflected and refracted lightwil e

completely polarised.

the reflected light will b® ©©Mplete|
polarised but the refracted light wi be
partially polarised,

Q4_English |

21

2

23

@

Given below are two statemenic. one is labelled
as Assertion A and the Other is labelled as
Reason R.

Assertion A : The potential (y) at any axial point,
at 2 m distance(r) from the centre of the ditible
of dipole moment vector p of magritude,

4%x108Cm,is +9x10° .

9
(Take - c =9%10" g1 ypits)
‘ 2P
Reason R : V== 5, where r is the 25
dreyr

distance of any axial point, situated at 2 m from
the centre of the dipole.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both A and R are true and R is the correct
explanation of A.

Both A and R are true and R is NOT the
correct explanation of A.

A is true but R is false.

A is false but R is true.

3)
@

A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown, which one of
the following options is correct (P and QO are any
highest and lowest points on the wheel, 5¢
respectively)?

P

o
Point P moves slower than point Q.
Point P moves faster than point Q._
Both the points P and Q move with equal
speed. '
Point P has zero speed.

(M
(2)
3)

4)
If x = S5sin (mf + %)m represents the motion of a

article executing simple harmonic motion_, lllle
amplitude and time period of motion, respectively:
are
() Scm,2s
(3) Scm,ls

(2) 5m.2s
@) smls

[ Contd...

A ’IOgic
followi;

T}ZEE‘;
(1) 4
G) 3
Ifcist
statam
are:

A
B. 1

()

~
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A [Iogic Cirey
ollowip Provides the oyt 4 ,
& tryyy, table - put ¥ as per the
——
A[B|Y
M“_—'———-—
010 |1
011 |o
110 |1
The ex . -—l— I 0
1) Apresslfn for the output Yis;
) 4B +4 ) 4B+1
B @ B
Ifci y '
. t:t::r;he Velocity of light in free space, the correct
. €Nts about photon among the following
g' The energy of a photonis E=hv.
- The velocity of a photon is c.
C.  The momentum of a photon, p = -’—tv-
c
D. In a photon-electron collision, both total

energy and total momentum are conserved.
E.  Photon possesses positive charge.
Choose the correct answer from the options given
below :
(1) AandBonly
(2) A,B,CandD only
(3) A, CandD only
(4) A, B,DandE only

A bob is whirled in a horizontal plane by means
of a string with an initial speed of ® rpm. The

tension in the string is 7. If speed becomes 2 ®
while keeping the same radius, the tension in the

string becomes :

ay T @) 4T
@ 7 @) 21

The terminal voltage of the battery, whose emf'is
10V and ihternal resistance 1 Q, when connected

through an external resistance of 4Q as shown

in the figure is :

28

29

30

31

s gl

skt
gy et

82,

o . .8° ‘%0
In the nuclcar emission stated abo

p-T
. -0
na unifory, ) b . m;llctic
needle porgy Uetic field of 0.049 T: 87 ©. i
5scC0lldsa5 Ms 20 complete Oscl”‘l- of thé
Jdle i 0wy, .nt of inertid f
needle is g V0. The moment ude 0
magnetic mg 19" kg m2. I the maggj A
then the vy, it of the needle is ¥ * )
Qgrsx, e
I SN
§& b
"""" -
2
(1. o% @) 1287
2
(@) 0= 4) 12807
A ‘?im OF length <7 and resistance 1009 15
divided into 19 equal parts. The first 5 parts ar:
connected in series while the next 5 parts 2f
.~ connected in parallel, The two combinations ar° !
again connected in series. The resistance of this ;-
final combinatiop is: |
i
(1) 26Q (2) 52Q ;-
(3 s55Q- (4) 609
Match List-I with List-IL. .
List-1 . List-II |
(Material) (Susceptibility (X)) l
A. Diamagnetic . x=0 ;
B. Ferromagnetic . 0>yx=-1 ;‘
C. Paramagnetic M. x>>1
D. Non-magnetic - IV. 0<y < € (asmall
' positive number)
Choose the correct answer from the options given
below:
(1) AJ,BILCIV. D]
(2) A\:ll, B-I, c-Ill, D-1V
3) A, B CL DIV
[4) A-IV, B-I", C-II, D-1 L
{ % 5 1 ¥ P ]
1R + =
200, %Y MY »P—2 50
Qo

Ve, the magg

number and atomic number of the product 0
respecti"dy‘ are : .

G Sca

[ Contq,_

L
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sraph which shows ¢, . -1 )
32 Thc ,’: p g vﬂriatioﬂ Of ’12
itq kinetic energyak is lie
and 1ts K1 A f_w & .(Where 1is chrOE
wavelength of a resxpart]c]e).
Lol P\
N
L g 1
)% | Cjﬁ @ % \
i o T
0 Ek() 0 E
1 L
©) 1; / v @ 3
rJ—-—"*Em T E
D 0
R N1
3 Inanideal transformet, the turng ratj 15 —F- =~
(84 N; 2
The ratio V: Vp is(equal to (the symbols carry
their usual meaning) : '
w2 (2 2:1
3) 1:1 M@ 1:4
: L .
H A thermodynamiciSystem is taken through the
cycle abeda. The work done by the gas along the
19 - path be is ; = w= PAV
3 )
$ ~ kg = K?-OOE
3mm--..- d v c g
Y {'r! ™ ’ l“/ il"\
100 kPaf-- - 45— ' [p >
e gy
o
20 : -
’f_?)/ 2;;’ @) 30J
J Q@4 -60J
5 Inth '
¢ followip Ciren: . AR
betw '8 Clrcuit, the equivalent capacitance
€en terming| ?_?nd terminal B is : \
ﬂ”‘ 25
4 LS
iﬁm:l_d %
2up N
MuF AN L §
o @
Q B) 0.5pF L6 @ Lp#
0 @) 4ur

36

37

38

39

Physics : Section-B Q.§
&)

Ifthe plates of 3
to a battery are
A. the charge
B. the energy

parallel plate ‘Jﬁ?r;?ﬂ‘}‘“‘\.
moved c]o Ic iy,
stored in it fnr“-‘ach p c‘f“ﬂcctcz
stored in jy , "eae, b they

g

C. its capz_tcitance increa; .E‘fffase-,

D. the ratio of charge to;,_ |

the same, “oteng
emla[rnr-

E. the product c}f charge

Ch :
oPt(i)gsz t:]\?e m};?st APPropriy, ﬂh e e
g1ven below: 4 fro gy

(1) A,Band E only (2

: A
A B,DandE onjy (4) A:g:;jéo;J]}

only
A 10 pF capacitor js conng

source as shown ip figure i 32[0\(,50}1;
Current i

the circuit is nearly (n = 3

+ =
+lI-

c=10pF|
207,50

(1) 0.584
(3) 1204

(2) 1934
(4) 1354

A force defined b}lr' F= a;2+p; actson a particle

at a given tirﬁé ¢. The factor which is

dimensionless, if-FI and f arconstants, is:
a P ® %
@

3) oft

T.V curves of

¥ . the ]
The following graph FePfeSe““m ature and ¥

i g I¢
an ideal gas (where Tis e % 'p, and s

SUfei‘ l. 1- - l d
the volume) }?t]th::{e) prr;;ﬂCS'ira;‘; represente
ith tho:
compared WI
as dotted [nes- . .
g
l" r . /\
l_ y Q_\.
{ Ilation is: P
fre 2 A > P >0
i ?’ p>B>h
| . I Conid---
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An iron bar
Itis bent g th
tWo armg ma

0 :
”ength L has magnetic moment M,
ke middle of its length such that the
€an angle 60° with each other. The

magnetic :
ENetic momep, of this new magnet is:

M

Ty

s
HE

f"\ parallel plate capacitor is charged by connecting
: ft toa bfmeW through a resistor. If ] is the current
in the circuit, then in the gap between the plates :

(1) there is no current.

(2)

1
M M -

3) 2Mm

41

displacement current of magnitude equal to
I flows in the same direction as I.

(3) displacement current of magnitude equal to
I flows in a direction opposite to that of I.
(4) displacement current of magnitude greater
than I flows but can be in any direction.

42 A "metallic bar of Young’s modulus,
0.5 x 101N m=2 and coefficient of linear thermal
expansion 1073 °C-!, length 1 m and area of
cross-section 10~3 m? is heated from 0°C to 100°C
without expansion or bending. The compressive

force developed in it is:
(1) 5x103N (2) 50x103N
3) 100x103N  (4) 2x103N

Choose the correct circuit which can achieve the
bridge balance.

43

(2

Q4_English ]

45

46

The velotly ion of
i ~ti the mot!
body is shoy,, be o""c (1) plot of
W

=2Vl

t(s) —

The acCeleaion ) _ ime (1) graph that best U1
this motion js .

% e
(l) 0 t)— (2) T 1(5)—
= 3
3
(3. L t(s)> ) . 1)

A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifyiﬁ'g' power of telescope for viewing

a distant object is:
(1) 34
3) 17

(2) 28
4 32

The minimum energy required to launch a sate]ljte
of mass m from the surface of earth of mass M

and radius R in @ circular orbit at an altitude of
2R from the surface of the earth is: :

5GmM 2GmM
() “%r @ T3z
—@T_‘E{ GHTA’!
(3) 2R 3R
[Comd_“

& <. collegedunia:
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47 1f the mass of the bol inag.. ! is
increased to thrice ity ori ‘il : Simple |1cnd“

]
3 e S 3 s cng“
is made halfits origin hags and ts!

al L) f i lc
‘I‘Li]g‘hz then the ne¥ e

period of oscillation is L{Iil‘ o] (NG
12 "Tes s origin®

period. Then the value ;)ft‘. b

M 3 @ 5
0

@ 243 @) 4

48 Asheetis placed on a horizopgy surface in front
of a strong magnetic POl&. A force is needed o :
A. hold the sheet ther€jif it js magnetic.

B.  hold the sheet theteif it i non-magnetic.
C. move the sheet Ef;i'“ay from the pole with
uniform velocity ifit is conducting.

D. move the sheet Ei\?ly from the pole with
uniform velocity ifit'is both, non-conducting
and non-polar.

Choose the correct statement(s) from the options

given below: ¥}

(1) BandDonly =/

(2) AandConly {ﬂ

(3) A,CandDonly _,.

5

(4) Conly

¥
s '
49  Two heaters A and B have power rating of | kyy
and 2 kW, respectively. Those two are firg
- connected in series and then in parallel toa fixeq
power source. The ratio' of power OUtputs for theg,

two cases is: o

1y 1:1 @) 2:9
3) 1:2 @ 2:3
{2

50  The property which is not of an electr OMagnegje
wave travelling in free space is that :

(1)
(2)

they are transverse in nature.
the energy densify in electric ficld is ual
to energy density iri magnetic bl

>

. I

[1 ‘ !
the travel wi ua[ o =
Y ith a %pccd eq i <) -

3)
(4)

.. (i} .
they originate from charges MOVINg wiy,
uniform speed.

Q4_English |

52

53

54

.
——

Chemistry : Section-A “j‘\"}“_ﬁ‘f“‘
———21 to 85)

Among Group |6 elements, whi

show —2 oxidation state?

(1 O (2) Se

(3) Te (4) b,
i ]

chone does N(

Match List I with List I1..
- List I "liistu
(Molecule) (Nm:n-t’e' and types of
honl__l{! between two
carbon atoms)
A, gtha‘ru-l‘, > I one g-bond and
-G q:: tWo 7-bonds
B. éthene II. “two z-bonds
C. carbon -TI1. ‘one g-bond
molecule, C, 1>
D. ethyne IV. {ohe ¢-bond and
(= — “0ne 7-bond
Choose the correct answerfrom the options give
below: . ¥¢)
(1) A-I, B-1V, C-II, D-III
(2) A-1V, B-III, C-II, D-1
€3y AL B, C-II, D
©)) é_-_@_—_l_}’_, C-1, D-II’}
Fehling’s solution ‘A’ is |
(1) aqueous copper sulphate
(2) alkaline copper sulphate .
(3) alkaline solution ofj sodium potassiufm
tartrate (Rochelle’s salt)
aqueous sodium citrate
¥}
Match List [ with List I111)
List I ™ List 11

(Conversion) (i (Number of .
-l Faraday required)

4)

A. 1 molofH,0to O, L iF

B. | molof MnOj to g 2F
Mn2* :

Cc. 1.5molofCa from nl.
molten CaCl, "

D. | mol of FeO to Fe,03 Iv. SF

i iOﬂS )‘i\;er
Choose the correct answer from the options &

slow: |
?f; A-II, B-1V, C-1. D-1IL,
(2) A-111, B-1V, C-1, D-_l;l!
3y AL B, C-1, D1,
() AL, B-1V, C-11, D-L
[ Contd.
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55 Identify

the
about the correct reagents that would bring

Ollowmg transformation.

< >—‘ CH, - CH CH, -
®_CH°“CHa~CHU

M @ HZQ;H+

(i) crog!

2) ) BH;JL'\:
(if) H,_oz/ OH

{8

- (1) PC(&-}

~(3) (i) BHi-
§Y "
) 1,05/SH

(iii) alk{KMnO,
(iv) HBOQ'
4) () HOMH*
(i) PCE,
b

56 Intramolecula}' hydrogen bonding is present in

o Qg

@ 4o :
N[__)&:
3) Q/ o,
44

HO
(4) HF

87 Activation

et
. ",:; \

L

energy of any chemical reaction can

be calculated |f' one knows the value of

B~ rate col Slilﬂt at standard temperature.
(2) probablllty of collision.

3)

orlentat:on of reactant molecules during

colhsnom ¥

(4) rate€

Q4__English ]

onstént at two different temperatures.

9

58

59

60

. [CO(NH ) (50 }]br

Match List
Ilh L")l ”

IJHt I (Cflmm %)

(¥
Co NI-I N()i j

—

N

pe

&)

. [CO(NH;,)J [cﬂ%:mé]

I~
A

¢ [CO(H?O)JCIJE

o

List 11 (Type ©f

isomerism)

[. Solvate
isomerism

II. Linkage
isomerism

[1I. Ionization

isomerism

IV. Coordination

isomerism

Choose the comrect answer from the opﬁons given

below:;

(1) AL B, GV, D-1

@) AdBLEIV, DI
(3) A, BV, G-I, D-II
(4) AL BV, CHIL D-1

O

1 gram of sodium hydroxide was treated with
25 mL of 0.75M HCl solution, the mass of sodium
hydroxide left m%(c}acted is equal to .

i @) 250 mg
£~
(4) 200 mg

(1) 750mg
(3) Zeromg O

S
0
(e follewing elements in incre

asi
elccllmlbbutwuy asing

Arrangé
order of

éhoosb the Lorrcptpmwu from the optiong , E,wcn
below: Lo )
(1) Si<€* “NED2E
2) Gt“( ‘CO‘:N <F
F<N<€ € <Si

3y O
54; p<0<N<C<si

[ Coingg
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: ith Li 64
Match List % ith List 11, ;l;'iltilf CIOIn!mund that will updep,, g |
List I List 1y 1the fastest rare s 80 Sy reag
(Process) (C“ndilions) (1
I ) Br !
A. [sothermal - No heat exchang® (2) Dr
pr(}CESS . :
B. lsochoric 1. Carried out at (3) Q/Br 1
process constang temperatur® 4) @) N
% -
C. Isobaric I1I. .Carrieq out at
process Constant yolume
jabati IV. : "
D. Adiabatic Carried out at 65 0 The Henry’s law constant (Kyy) values of thre
process Constant pressure gases (A, B, C) in water are 145, 24103 :1:..;
Choose the correct answer from the options given ?’5 kbar, respectively. The solubility of these gase:
below: n water follow the order:
(2) A-IV, B-II, C-III, D-I
3) A>C>.
(3) A-L B-IL, C-III, D-IV G) B ) ASB>E
})/ A-II, B-TII, C-1V, D‘:_I_,
: 1 l 3 e n
62 Which one of the following alcohols reacts o . thh plbali b iy T
instantaneously with Lucas reagent? Arrhenius equation?
(1) CH,-CH,-CH,~CH,OH
0 T
(2) CH,-CH,- CH-OH ~ =
I iy = @ =
CH (1) i
() cH,- CIH—CHZOH ‘
CH
3
1 i
. 4 =
: —
?H3 @) 1 p@/ Lo
(4) CH3~(|)—0H ' T ' ;
woncia K. and K,
67 In which of the following equl“h”“‘ l"l‘ AICDe
. (The energy of an electron in the ground sgaq are NOT equal?
“=!)forHe+ioni5 xJ forane]
—x J, then that foraneleeyyq, 2 _i
. _ ? 5* PCI . 4 Cb 7)
In n =2 state for ge3+ o0, 5 T8 ¢ /(,l) PClstg) — 3(p) (e
ke )
(1) -x x @) Hyp*he = 2o
2) -= +Hye
? 3) Co(g}+ H.'lo(g) = COp "~
3 — v
( Contd--
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70
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Given belgy,
Statemem |

pentanes follows the order -

- .
: pentane > 1sopentane > neopentane
tatement IT : When br,

anching increases, the
mo : : calis
lecule attajns a shape of sphere. This results

:E SIInaller surface area for contact, due to which
€ Intermolecular forces between the spherical

mCTIecules are weak, thereby lowering the boiling

point,

In the light of the above statements, choose the

Most appropriate answer from the options given
below:

are two statements:

_{1)—Both Statement1and Statement Il are correct,

(2) Both Statement I and Statement II are
incorrect. ;

(3) Statement 1 is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement II is
correct,

1"

The reagents with which glucose does not react
to give the corresponding tests/products are

A. Tollen’s reagent |

B. Schiff’s reagent

C. HCN

D. NH,OH

E. NaHSO;

Choose the correct options from the given below:
(1) BandC (2) AandD

(3) BandE (4) EandD

|
In which of the following processes entropy
increases? :
A. A liquid evaporates to vapour.
B. Temperature of a crystalline solid lowered
from 130 K to 0 K.,

D. Clyg2Clg

Choose the correct answer from the options given

below:
(1) AandC
(3) A‘ C ﬂnd D

(2) A,BandD
(4) CandD

: The boiling point of three isomeric

72

13

Lir::aItc(lfli];;i;-l With List 1 ents/

lo ' . a

) List 11 g};l cﬁﬁon)
M 0

A C)‘Qx,z&ug LAy

ol Anhyd-AICl3
E:fi

0
B: Qﬂ@bm 1. CrO
0] e
OH
C. U ‘*O’O [II. KMnOy4/
A
m KOH;
CH,cy
p. ™, (i) O
cook L
N (ii) Zn-H,0

Choose the correct ;.gwer from the options given
below: E

(1) A-IV,B, c-1iD-I1

(2) A-NIL B, C-11, D-IV

_BT A-IV,B, C-I1, D-III

(4) AL, BV, C-11, D-11I
m

Given beloware twb{statements:

Statement I ; The Boiling point of hydrides of
Group 16 elements follow the order

H,O > H,Te>H,Sex H,S.

Statement Il : On the basis of molecular mass,
H,O is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has

higher boiling point.

" In the light of the above statements, choose the

correct answer fron{'the options given below:

1) Both sxgtemengl jand Statement II are true,
(2) Both Statem.en?l.and Statement [1 are false,
3) Statement I is %rg;a but Statement II is false,
4) Statement I is ‘gq_l;e but Statement I1 is trye,

0
For t.he reacﬁorl ZA‘S;&; B+C F KC =4x 10‘-3 ] At "
 time, the composition of reaction mixtyre -

give
'A],[3]=[c]=2x10‘3M._

is:
Then, which of_‘ the t‘ql'lpv:vir}g is correct?
M Reaction is at ﬁ[illlbrlul‘n.
__ () Reaction has gndency 10 go in forwary
= jrection- ct\l
3) R eaction has a _e;ndency to go in backwarg
ircctlorl.

eaction has g&l,}t to completion jp for

@ R

. Ward
. tion.
direct™>

. / il il
~ 4xi6  xEX 10

B /I/Noé :-c:l—ﬁ’xfo"‘ [&“td'--
-"—.'-‘-—._-_——

~
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74 Match List with List
List I .

Quantum Number lnrﬂ:;:tﬁl:n pmvided

A,y Shape of orbital

B. my n;w g

¢! o Orientation of
Orbita] _

Bl © Orientation of spi
of electron

Choose the correct answer from the options given

below:

(1) A-I, B-1II, C-II, D-Iv
(2) A-I, B-IV, C-1, D1
A37 AL B-1V, C-I1, D-I
(4) A-II, B-I, C-IV, D-II1
75 Acompound with a molecular formya of CeHia
has two tertiary carbons. Its IUPAC name is:
(1) n-hexane
(2) 2-methylpentane
(3) 2,3-dimethylbutane
(4) 2,2-dimethylbutane
76 On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the
purification of such solid substances based on the
above principle is known as
(1) Crystallization
(2) Sublimation
(3) Distillation
4) Chromatography

77 The most stable carbocation among the following”

IS:

12

\
e
U
Q’/’ /}
-
78

;i

80

81

(Compound)
A. NH; L
B. BrF;
C. XeF,
D. SFg

Given below are two statemepy,.
Statement I : Aniline dogs
Crafts alkylation reaction,
Statement I1 : Aniline canng
Gabriel synthesis.

In the light of the above Stateme,
correct answer from the optjop; ai
(1) Both Statement I and SIaten:em ITare tn,
(2) Both Statement I and Statement ] are fals

Matement [ is correct by Statement 1|

false.

5t undergg frien

the prepared throy,

ts. choose
Ven bf:lm'.‘,

(4) Statement I is incorrect byt Statement I
true.

Which reaction is NOT a redoy reaction?
(1) Zn+CuSO, —» ZnSO;+Cu

(2) 2KCIO;+1, > 2 KI0; +Cl,

(3) Hy+Cl, » 2Hcl

(4)" BaCl, + Na,SO, — BaS0, +2 NaCl

Match List I with List II.

List I List I1

(Shape/geometry)
Trigonal Pyramidal
1.
11I.
IV.
Choose the correct answer from the options give
below:

(1) A-l, B-IV, C-II, D-III

2y A-ll, B-IV, C-1ll, D-1

(3) AL, B-1V, C-1. D-lI

(4) A-Il, B-lIL, C-IV, D-1

Square Planar
Octahedral
Square Pyramidal

Arrange the following elements in increasin
1 .

order of first ionization enthalpy:

Li, Be, B, C, N -
Choose the correct answer from the opions &

below:
(1) Li<Be<B<C<N
(2) Li<B(Be<C<.N
(3) Li<Be<C<B<N
(4) Li<Be<N<B<C
| Contd-
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82

83

84

85

*Spin » i

ofp| .Only Magnetic moment s g
the fGHowing ions?

A, T3+

B. 24
C. N1“2+ Cr_

E. S¢3+

ame for which

Ch i I
00se the most appropriate answer from the

OPLIONs givey pelow:

/‘(‘l')/é and D only

(2) Aand E ou[y
(3) B and C only
(4) A and D Only

The E° value for the Mn3+/Mn2+ couple is more
positive than that of Cr3*/Cr2* or Fe3*/Fe2* due
to change of

(1) d3tod? configuration
(2) d° to d? configuration
(3) d*to d3 configuration
(4) d to dS configuration

The highest number of helium atoms is in
(1) 4 mol of helium

(2) 4 uofhelium

(3) 4 gofhelium

(4) 2.271098 L of helium at STP

Given below are two statements :

Statement I : Both [CD(NH3)6 ]3+ and [COFe ]3_

complexes are octahedral but differ in their
magnetic behaviour.

oo ;
Statement II : [Co(NHs)ﬁ] is diamagnetic

3_ . .
whereas [CoFﬁ] is paramagnetic.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Statement I and Statement Il are true,
(2) Both Statement I and Statement 11 are l:alsc.
(3) Statement L is true but Statement II is false.
(4) Statement I is false but Statement II is true.

87

88

13

i : . oneliC
is hanoid jons which are diamag”

4
(N Cc3 } v
(2) Celt ang Ey2+
(3) Gd¥
@) Pm¥g, S+

ang Eu3+

iven in cati g '
G X b.EIOWare certain cations. Using lnorgﬂ_nlc
qualitative analysis, arrange them in increasing
group numbe, from 0 to VI.

A. APt B. Cu2*
C. Ba2+ D. C02+
E. Mg

Choose the correct answer from the options given
below:

(1) B,A,D,C,E
2) B,C,AD,E
(3) E,C,D,B,A
(4) E,A,B,C,D

Major products A and B formed in the following
reaction sequence, are

OH
HQ PBry alc. KOH
— A ——— 3
(major) (major)
Br
H]C HJC
(1) a= » B= @
Br
@) a- 3 B U
OH OH
“]C Br H,C
(3) A= C
OH 0
(4) A- Ej ' E j
[ COntd“.

~
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ernal
25°C

shere

The w?)rk done dnnng ey
expansion of one mole o

"I“]
from pressure of 20:‘1It‘mos
. L)
is:

i"‘

(Given R = 2.0 cal {(;‘,1 mol~1y ?V =
(1) \
@)

ersiple isoth
]ydrogc" gﬂS a
Phere ¢ 10 atmost

0 calorie AL W =
—413.14 calor}j;ﬁ
L)
413.14 calories
100 calories (v)
L)

Identify the majop“product C formed in the
following reaction $éqitence :

CH,~CH, -CH, -1g-NCN
AQ
OH™ , g —NaOH

: —> C
1
Partial hydrolysis Br*2 (majnr]

-‘I‘H‘r'!
propylamine ()
butylamine L™

)

ey
(2)
)
(4)

butanamide 2
o- bromobutall‘i!oic acid
W0
The products A and B obtained in the following
reactions, respectively, are
3ROH + PCI3—~>3R_t(::]] +A
ROH + PCls—»RCl+HCI + B
(1) POCl; and H;PO,
(2) POCI; and 10,
(3) H3PO, and PO,
(4) H3PO; and POCI,

Mass in grams of copper dePO-‘iith by Passing
9.6487 A current through a voltmeter Containjpg
copper sulphate solution for 100 seconds jg.

(Given : Molar mads of Cy : 63 g mol™,

IF=96487c) N

ljd. i
(1) 3.15¢ on(2) 03158
() 31.5¢g W4y 0.03158

Q4__English |
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93

94

95

96

97

B= 32 .

g 2.0 T 2= 1l

. gy W de
(= l':,.\.
L. E

A corflpound X containg 32%0
remaining percentage of - . A20%ory,
formula of X j¢7) s the emp;p:
(Given atomje iiasses of A= |

ks =64 B =g,
(1) ABC, [~ 40 Cs,,
(3) ABZCZ (‘3-,_3

During the pre _Fé_ration of Mohr's g
( Ferrolus ammonium sulphate)
following acid is addeq to
FeZ* jon?
(1) dilute hydfochloric acig
(2) concentrated sulphuric acig
(3) dilute nitric-acid
(4) dilute sulphuric acid
&l
Identify the correct answer,
(1) Three reso@nce structures can be drawn f:
ozone.
BF; has non-zero dipole moment.
Dipole moment of NF; is greater than th:
of NH;. ()
Three canonical forms can be drawn fc
CO%“ iont ™
N
The rate of g’ﬁreaclion quadruples _\\'he.
temperature ‘changes from 27°C to 57°C
Calculate the energy of activation.
Given R =8.314 J K~ mol!, log 4 = 0.6021
(1) 38.04 ki/mol
(2) 3804 kJImo{.
(3) 3.80 kJ;’m”,}
3804 kJ/mol
(4) 4

alt solutj;
hich of ¢
prevent h}'dml)sig _

()
()

(4)

[ Gdtion:
For the given reac

58 + P
(H—c=au QMO

(major

f D” product)
‘P’ is
(1) CI-[?
@ Oy
OH[~OH
o O-tGn-0O

[ COII“L
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98  Theplotof Osmotic pressure (1) vs concentration

(;1101 L1 for a solution gives a straight line with
5] Ope 25.73 L bar mol~'. The temperature at which
the osmotijc pressure measurement is done is:

(Use R = 0,083 L bar mol-! K-
(1) 37°C (2) 310°C.
(3) 25.73°C (4) 12.05°C

99  Given below are two statements :

3+
Statement I : [CO(NH3)6:| is'a homoleptic

+. 3
complex whereas [CO(NH3)4C12] is a

heteroleptic complex.

3+ '
Statement IT : Complex [Co(NH3)6] has only

) : +
one kind of ligands but I:Co(NH3)4 Clz] has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:

c(la/EE)th Statement I and Statement Il are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.
(4) Statement I is false but Statement II is true.

Consider the following reaction in a sealed vessel
at equilibrium with concentrations of

N, =3.0 x 103 M, 0,=4.2 x 10> M and
NO =2.8 x 1073 M.

100

2NO(g) = N (g) * O(e)

1£0.1 mol L' of NO is taken in a closed vessel,
what will be degree of dissociation (ct) of NO(,
at equilibrium? '

(1) 0.00889 (2) 0.0889

[ e

potany : Seq
i 135)
101 Auxin 5 Useg A (Q. No. 101 to

-fre€
lawns. By, Y gardeners to prepare weed-f )
/(/H/ Promgy, tamage i caused to grass as A%%
2). Ppro pical dominance. -
ES; do:sersnOtes abscission of mature leaves 0"'151’5
"0t affect mature monocotyledon®

prod

*)

. e i to
P in cell division in grasses

Uce growth.

102 HOW Many o es of ATP and NADPH ar€

requi.red for ¢very molecule of CO, fixed in the
Calvin cyclep _

(1 2 Molecules of ATP and 3 molecules of
' NADPH

5{,7/)' 2 molecules of ATP and 2 molecules of
NADPH

(3) 3 molecules of ATP and 3 molecules of
NADPH

(4) 3 molecules of ATP and 2 molecules of

-~ NADPH

103 In the given figure, which component has thin
outer walls and highly thickened inner walls?

(2 D

G) A & B
104 Match List]with List Il
List] ‘ L-ist 1I
A Nucleolus I.  Site of formation
of glycolipid
B Centriol II.  Organization like
. the cartwheel]
lasts IIl.  Site for active
C. LeucoP ribosomal RNA
synthesis
—— IV. For storing
a apparﬂws nutrients _
ol the correct answer from the options given

bc|0“; i1, B-IL C-1V, D-I
11, B-1II, C-1, D1V

i, B-1V, C-I1, DI
B-II, C-11I, D-IV

“@ A
3 A

(3) 0.8889 4) 0.717

Q4_English ]
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[dentify the type ofﬂowers
of calyx. corolla and androe,
the ovary from the given 1lg}|

on
Sed o the P‘”'“
Cium, with respé¢

es (a) and (V)

(1) (@) Epigynous; (b) HYPOgynous

(2) (a) Hypogynous; (b) Epigy
_(3)"(a) Perigynous: (b) Emg}m;ms

(4) (a) Perigynous; (b) Perigynoug

&
106 Match List I with List II -

List 1 "Irnst i
A.  Rhizopus L. ;Mushroom
B.  Ustilaugo II. “"Smut fungus
C. Puccinia [ll.  Bread mould

D. Agaricus IV. Rust fungus

Choose the correct '1nswer ['rbm the options given
below:

(1) All[BI]CIVDI"‘
(2) A-L B-III, C-II, D-1V.%)
(3) A-lL B-II, C-I, D-1V:#
(4)  A-IV, B-III, C-II, D-1'73
i !
Which of the followmg is an example of
actinomorphic flower?
(1) Datwra (2)cvCassia
(3) Pisum (GO .?esbania
[
Identify the set of correct statements:
A. The flowers of l/nrlhsuerm are colourful apq
produce nectar.

107

108

.
|

B. The flowers of w aterhfy are not pollinateq
by water. .

C.  In most of water-pollinated species, he
pollen grains are protected from wetting,

D. Pollen grains of some hydrophyles are long
and ribbon like. EEY

E.

In'some hydrophytes, the pollen grains ar,
carried passively |ns.1de water.

Choose the correct answer from the options giyey,
below:

(1) C,DandEonly
(2) A,B,CandDonly
(3) A,C,DandE only

(4) B,C.DandE only

Q4_English |
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109 A pink flowered Snapdragon ply

110

111

112

with a red flowered Snapdrago, o Wag fro,%:
of phenotype/s is/are expected j, -~ "hat by,

(1) Only red flowered plants "fﬁgcnp
(2) Red flowered as well as pmkﬂ -

(3) Only pink flowered plants e planh

(4) Red, Pink as well as white flowe e M)

Plany;
Formation of interfascicular cambjy al
developed parenchyma cells is an gy, ‘Z\Lﬂh
(1) Differentiation

'_(2)- Redifferentiation - :3(:1
(3) Dedifferentiation )
(4) Maturation

J
Match List I with List II :”]
List I ListIr,
A. Two or more L. BEICI(C{Q\SS
alternative '1'
forms of a gene r;}
B. Cross of Fy Il Ploidy 0
progeny with -
homozygous
recessive parent
C. Cross of F, 11 Allele ()
progeny with if
any of the parents [~
D. Number of V. Testerosy
chromosome ¢
sets in plant )

Choose the correct answer from the optionsghe"
below:

(1) A-l, B-II, C-II1, D-1V

(2) AL B-I, C-IIL, D-IV

LY AL B-1V, C-1, D-1I {")
(4)  A-1V, B-II, C-II, D-I i
ark
Which of the following are required il (Eld
reaction of photosynthesis? g
A.  Light o
B.  Chlorophyll \0
C. co,
D. ATP
E.  NADPH s AV
Choose the correct answer from the opuon:i,ﬂ)
below: !_(.]
(1) A,Band C only ’5!
(2) B,CandD only if
(3) C,DandE only .iJ,
(4" Dand E only | ,;;;ﬁid-"
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H 7
Given belyyy are two statements:

Statement I : Chromosomes become gradually

visible under light microscope during leptotene
stage.

Statement I1 : The begining of diplatene stage is
recognized by dissolution of synaptonemal
complex, e

In the light of the above statements’ choose the
correct answer from the options given below:
Ay

(1) Both Statement I and Statementt:;ﬁ are true
(2) Both Statement I and Statement II are false
(3) Statement ! is true but Statement 'l is false
)A—)” Statement 1 is false but Statem%ﬁ?ll is true

. Y
A
Spindle fibers attach to kineto¢hores of

chromosomes during X

e
(1) Prophase A2)- Metapha?e
(3) Anaphase

(4) Telophase

)
What is the fate of a piece of DNA cgl:}ying only
gene of interest which is transferred :_f:i}o an alien
organism? i

i)

A. The piece of DNA would be ableto multiply
itself independently in the progeny cells of
the organism.

B. Itmay get integrated into the genome of the
recipient. o -

C. It may multiply and be inherited:along with
the host DNA. [

D. The alien piece of DNA is nof-tf:? integral
part of chromosome. {3‘{-: »

E. It shows ability to replicate. (¢}

Choose the correct answer from the options given

below:

(1) AandBonly &)

iy’

(2) DandEonly fu

(3) BandConly "\

dE  §

(4) AandEonly o
W 17

Yo N

17

118

I -
Thete:;ct'ose Present in the growth medium of
il I?‘tmns‘m'“’-tl to the cell by the action of:

/(y)/ge‘ﬂ-galactosidase

) Acetﬂase

(3) Permegge Eg
(4) Polymerage tc:;
@:_’%’.

€0

Given below are two statemehts:

Statement I ; Parenchyma is living but
collenchyma is dead tissue. (7}

1y
Statement II : Gymnosperms,lack xylem ve_sse.ls
but presence of xylem vessels 'i.s::}he characteristic
of angiosperms, it

.
In the light of the above stat{&lients, choose the
correct answer from the options given below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Stélit;%nent 11 are false
3) Statement | is true but Statement 11 is false

ol .
4) Statement I is false but S!téitement 11 is true
o0

' po N
Which one of the following is not a criterion for
élassiﬁca-tion of fungi?"

. ) Morph"logy ofmyce'liu?h

V) Mode of nutrition LY
(3) Mode of spore formatio;
e ey

() Frultlﬂgbﬂdy o
(14

119

[n a plant black seed color (BB/Bb) is dominan¢
ol:’el' white seed color (bb). In order to fing gy

i notype of the black seedplant, with which
fcthe following genotype will you cross jt9
0 -+

R Py
4) BB/B
3 BO " 0 b

\6)

[ Contq,

G Sca

collegedunias

India’s largest Student Review Platform



Hind Il always cuts DNA molecyleg ata

 point called recognition sequence 4y ::::Th
of: Sig,
(1 S5p (2) 6bp
"(3) 4bp (4) 10bp

120 Tropical regions show greateg tevel of e
richness because
A. Tropical latitudes have remained rc[ati""ly_
undisturbed for milliong of yurs hence
more time was availap|e o cpesies
diversification.
124

/B,/Tropical environments are More Scasoﬂai-
' .C._More solar encrgy is available jp tropics:

D. Constant environments promote niche
specialization.

E. Tropical environments are constant and
predictable.

Choose the correct answer from the options given
below: '

M&D and E only

(2) AandB only
(3) A,BandEonly
(4) A,BandD only

121 These are regarded as major causes of l;iodiversity

loss:

A.  Overexploitation —

B. Co-extinction ¥

C.  Mutation \ A\~ :

D.  Habitat loss and fragmentatiom__~
E.  Migration :

Choose the correct option:

(1) A,Cand D only

(2) A,B,CandD only

(3) A= nd-E-only
A,Band D only -

122 A transcription unit in DNA is defined Pri'“ﬂrily
by the three regions in DNA and these are wijg,
respect to upstream and down stream end;

(1) Repressor, Operator gene, Structural gene
(2) Structural gene, Transposons, Operator gene
(3) Inducer, Repressor, Structural gene

(4)  Promotor, Structural gene, Terminator

Q4_English ]

18

The cofactor of the enzyme carboxypeptidase ;..
(1) Zinc (2) Niacin '
(3) Flavin (4) Haem

125 Match List I with List II

List I ListII

A. Clostridium I.  Ethanol
butylicum .

B. Saccharomyces II.  Streptokinase
cerevisiae

C. Trichoderma III.  Butyric acid
polysporum

D. Streptococcussp.  IV. Cyclosporin-A

127

Choose the correct answer from the options given
below: '

(1) A-II, B-I, C-II, D-IV

(2) A-lI, B-1V, C-III, D-I

(3) A-llL, B-L, C-IV, D-II

(4) A-1V, B-I, C-lII, D-II

126 List of endangered species was released by-

AD~GEAC

(2) WWF
(3) FOAM (4) TUCN

The type of conservation in which the threatened

. itat
species are taken out from their natural habita

and placed in special setting where they can be
protected and given special care is called;
g/])/!rﬁs"im conservation

(2) Biodi.versityconservation

(3) Semi-conservative method

4) Sustainable development
[ Contdcn
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128 The Capacity

to generate a whale
cell of he pl Whole pl

ant is called:
Y2y Totipotcncy

ant from any
M
(2) Micropropagatiéh
(3) Diﬁ'erenliation{:‘
%
(4) Somatic ll_\-’bridi_z:ation
g

: L€
129 The €quation of Verhfllst—Pcarl logistic growth is

da\v - T
T =&y
£l m

-
From this equation, ;ﬁﬁndicates:

(1) Intrinsic rate ot'n_atural increase
(2) Biotic potential“’
(5%

__ ¥ TCarrying capacﬁ%’y

(4) Population density

130 Bulliform cells are résponsible for
(1) Inward curlingiég? leaves in monocots.
(2) Protecting the plant from salt stress.
_(3)~TIncreased phot%%rntheéis in monocots.
(4) Providing largquaces for storage of sugars.

Lecithin, a small molecular weight organic
compound found in‘lix;ing tissues, is an example

Of: Lf‘:;
1) Amino acids [

o
) i
3) o
4)

131

Phospholipids
Glycerides
Carbohydrates'£

[nhibition of Succinic dehydrogenase enzyme by
pate is a classiddliexample of:

Cofactor inhibltﬂ)m
Feedback inhiliition
Competitive iﬂﬁﬁ_‘)ili{)n

. 0
Enzyme actwakl&n

132
malo

(1)
)
3)
4)

Q4_English |

19

Given bg|

Slﬂt‘-‘ll‘IEn:J Are two statements: i
and Codey *Bt toxins are insect group SP
Statemg, Y Agene cry IAc. _
protoxip i:] b; Bt toxin exists as |
ingestion {, thuringiensis. Howeve

Y We inscct the inactive protoxin

¢
converteq &t . 0
: fled N detive form due to acidic pH
the insegt gut &

In the lighl'ﬂf:ﬁ‘le above statements, ch005€ _thc

correct ansWerFﬁ-om the options given below:

(1) Both Statement | and Statement Il are true

(2) Both Statement I and Statement II are false

() Statement | ; 1 is false
€ment [ is true but Statement 111

@ : Smeﬂlﬁr;l'{f is false but Statement II is tru€

3
13 -~

nactive
after
‘ gctS

134 Identify the pzi';fgof the seed from the given figure
which is destiried to form root when the seed
germinates, 1

¢

135 Which one of the following can be explained on
the basis of M_gfnde]’s Law of Dominance?
A. oOutof ohe pa.ir of [‘ac_tors one is dominant
and the other is recessive.
B. Alleles d?;‘;ﬁot show any expression and both
" the Cha:"j", ters appear as such jp F,

N~

enemtioﬁ‘r}‘ ' o
c. Factors bc:bur in pairs in normal diplojg
S lants.
D The discrete unit controlling g particy]
77 haracter is called factor. ar
g, The expression of only one of e Pareny

charactefs Is found in a monofy

brid ¢y,
Choos® the corféet answer from the 23

Optiong gi\'eln

Vi .
belo* B and Conly

() :' C, D and E only
.,,(2 g, C andD only
g; A, B, C, Dand E

[ Congq

~
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136

A

B.

Botany : Section

e

-B
Match List I with List I1
List I

T Li
Citric acid L ¢ ys_[:)Il
cycle plasm
SR 1L Mitogpondria

Matr;

Electron 11 lme:; i
transport Space ;‘.;n )
system ' Mitg .
Proton I\ Inne;‘—hondrla
. ,-gradlent et

o Membrane
Choose the correct answer from the options given

below:

AL B-II, C-III, D-1V

137

A.

B.

138

(2) A-IL B-I, C-1V, D-lII
(3) A-lI, B-1V, C-1, D-II
(4) A-1V, B-II, C-II, D-I

Match List I with List I1

List I List I

Robert May . Species-Area
relationship

Alexander von 1. Long term

Humboldt ecosystem
experiment using
out door plots

Paul Ehrlich 1. Global species
diversity at about

g 7 million

David Tilman IV. Rivet popper

hypothesis

Choose the correct answer from the options given
below:

(1) A-l, B-III, C-1, D-IV

(2) A-lL B-1, C-1V, D-1I

(3) A-l B, C-11, D-1V

(4) A-III, B-1V, C-II, DI

In an ecosystem if the Net Primary Productivity
(NPP) of first trophic level is 100" | 0

100x (kcal m~2) yr™!, what would be the GPP

(Gross Primary Productivity) of the third
trophic level of the same ecosystem?

) %(kcaf m2) !

/(?—)/x (kcal m_’l) yr |

(3) 10x (keal m_z) .]w"_I
(4) 100x

3x

(keal m™2 ) yr!

Q4_English |

139

140

20

A= WL
. T
A T
Read the following statements and choose the
of correct statements: m
In the members of Phacophyceae,
A. Asexual reproduction occuyrg usu

: ally b
biflagellate zoospores. T

B.  Sexual reproduction is by oogamoys method
only.

C. Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyl,

E. Vegetative cells have a cellulosic wall,

usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given
below: , '

(1) A,B,CandD only

(2) B,C,DandE only

(3) A,C,DandE only

(4) A,B,CandE only

Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Auxin '

(2) Gibberellin

(3) Cytokinin

(4) Abscisic acid

141 Match List I with List Il

ListI List II
(Types of Stamens)  (Exam ple)

A. Monoadelphous I Citrus

B. Diadelphous II. Pea

C. Polyadelphous III. Lily

D. Epiphyllous IV. China-rose

Choose the correct answer from the options given
below: ‘
(1) A-IV,B-II, C-, D-III
(2) A-1V, B-l, C-I, D-III
(3) A-L B-II, C-IV, D-III
(4) A-II, B-1, C-1V, D-ll
[ Contd...
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142 Whigc}, of the followin

g statement is cor
——. rect
garding ;e process of

replication in £.coli?

The pNA dependent DNA polymer
Catalyses poly
that is 3° 5 5°.

ase
merization in one direction

(2) The DNA dependent RNA polymerase

Catalyses polymerization in one direction,
that is 5° 3",

() The DNA dependent DNA polymerase

Catalyses polymerization in 5’ —3* as well
as 3’ — 5" direction.

(4) The DNA dependent DNA polymerase

catalyses polymerization in 5 —»3” direction.
143 Identify the step in tricarboxylic acid cycle, which
does not involve oxidation of substrate.
(1) Malic acid — Oxaloacetic acid
(2) Succinic acid — Malic acid
(3) Succinyl-CoA — Succinic acid
(4) Isocitrate — o -ketoglutaric acid

144 Match List I with List II

List I List II
A. Frederick I.  Genetic code
Griffith
B. Francois Jacob II. Semi-conservative
& Jacque r_node of DNA
. Monod replication
C. Hz;r Gobind [1I. Transformation
Khorana
D. Meselson & IV. Lac operon
Stahl g
Choose the correct answer from the options given
below:
(1) AL, B-I, C-I, D-IV
2) A-UIL BV, C-L DI
3) ﬂ_ﬂﬂl C-1V, D-I
(4) A-1V, B, C-11, D-I1I
2]

Q4_English 1

o

jdentify the

Ve
figure: Orrect description about the &

Miﬂd pollinated plant inflorescence showing

flowers with well exposed stamens.

@)

Water pollinated flowers showing stamens
with mucilaginous covering.

€
(4)

Cleistogamous flowers showing autogamy.

Compact inflorescence showing complete
autogamy.

146 The DNA present in chloroplast is:

147

(1) Linear, double stranded

__(2)_Circular, double stranded

(3)_ Linear, single stranded
4) —Cifcular, single stranded

Given below are two statements:

Statement ! ¢ 1 73 plant.s > some O, binds tq
RuBisCO, hence CO, fixation is decreage d

Stat ement I1: In C; plants, mesophyll cellg show

e little photorespiration while bundle g

P heath
cells do 1ot show photorespiration.

In the light of the above statements, choose th
€

correc! answer from the options giyep, below:
(n poth Statement I and Statement 1 are tryq
) oth S/lalemenl I 'and Statement |1 are flge
atement L is true but Statemen¢ s false
@ gatement [ is false but Statemen¢ Il is g

[ Cnntd
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W
4 / 3
L \
v /
g Match List I with List 1y k.
ist I
- (¥} List II
e R ij’:} ’ Homgne
Insulin V0L
P _ QY Enzyme
¢. Trypsin i 1L Itercejylar
i‘_‘“‘l,-\-..
k:’:i groung substa™®”
p. Collagen Iv: Enables licose
s3] transport into cells
Choose the correct aépfwer from the options given
“below: e
S -1, C-ITxD-I
. Al rz 1
(2) A-L B C-ll_I;:P-IV
§8
3) A-lL B-III, C4V, D-I
(4) A-IIL B-IV,C-L,D-II
149 Match List I with Lfi‘é_"t 11
iy
List I j-.. List II
A. Rose I£N Twisted aestivation
L
B. Pea II'.:1 Perigynous flower
C. Cotton LI: Drupe
D. Mango~~ IV. Marginal placentation

Choose the correct answer from the options given
below: ) '
(1) A-IL, B-1V, C-I£D-1IT
-~ !..-;--"
() A-, BI, C-I1l, DIV
(3) A-IV, B-III, CIit D-I
: 8]
4) A- - -IV. D-
(4) 1L, B-IIL, C-[y, D-I

150 Which of the following are fused in somatic

hybridization involying two varieties of plants?
(1) Callus L)

L=
(2) Somatic embrijol

G- Potoplss 3
1]

(4) Pollens Lo

Q4_English |

152

153 Match List I with List I:

22

oo w >

" (1)~C-E-D-A-B

O 0wy

-A (Q.
Match List | With List g -

List I

Lis |y
Pleurobrachia L. Mo
Raduy] %
S a . II. Cteﬂophora
o .
f)mochord L Osteichthyes
Air bladder v,

) Hem ichardata
hoose the correct answer fi

below : oM the options given

(1) AV, B-IL, i, D

2) AL BL CIv
AP B CIV, par

(3) _AJL B-IV, C-1, D
(4) A-IV, B, C-1I, D-1

Following are the stages of cell division :

A. Gap 2 phase

B. Cytokinesis

C. Synthesis phase
D. Karyokinesis
E. Gaplphase

Choose the correct sequence of stages from the
options given below :
(2) E-B-D-A-C

(3) B-D-E-AC (4) E-C-ADE

List I List II
Cl mon cold 1. Plasmodiun
om .
Haemozoin 1. Typhoid
Wwidal test 111 Rhinoviruses
Alll gy [v. Dust mites
. N i jven
Choose the correct answer from the options &
below :
@) A-llL, B-Iv, C-111, D-1
@) AL B -, D-IV
A-111, B-L, C-1b D-1V
-1
v, B-1l c-1i, D
4) A-1V, [ Contd_._
L ]
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o0 ®

Match List | with List 1] :

11;;“1 1 | List 1T
_ D oid . Fungus
Lt.EIShmaniaSiS// ’ II.  Nematode
R-ln gWorm _- I Protozoa
Filarjagig _ IV. Bacteria

bC:I(:\)\Sr? the correct answer from the options given

(1) A-I, B111, C-I1, D1V
2)~AIV, B-1IL, CL, D-1i
() A-m, B-1, C-IV, D11
(4) A-IIL, B-1V, C-IIL, D-I

’ 155 The flippers of the Penguins and Dolphins are

15

- conduction of an action potential through the

the example of the
(1)
(2)
(3)
4)

Adaptive radiation- -
Natural selection
Convergent evolution
Divergent evolution

ollowing are the stages of pathway for

heart:

A. AV bundle

B. Purkinje fibres
C. AV node

D. Bundle branches
E. SAnode

Choose the correct sequence of pathway from the

© options given below :

(2) A-E-C-B-D

(1 E-C-A-D-B
(4) E-A-D-B-C

(3) B-D-E-C-A

157 Which of the following statements is incorrect?

Q-‘-I__EngliSh ]

| -y

1 A bio-reactor provides optimal growth
conditions for achieving the desired product.

(2) Most commonly used bio-reactors are of
stirring type.
Q) - sreactors are used to produce small scale
%rial cultures.
i itator system,
( Bio-reactors have an ag
@ an oxygen delivery system and foam control

sy stem.

23

159

160

which of

pallopian lube?o Io“’i"g is not a component of
RS )/Uierine;fUndu

2) [Slhmlls "

€ l“fu“dihulu
(4) Ampyp

Given belDWa .
' Ie tw. .
Statement | 0 0 statements :

| nthe nephron, the descending limb
of 00p of H'EIIIC is impermeab]c to water al‘ld
permeable g electrolytes.
Stat-ement IL: The proximal convoluted tubule
8 'lmed by simple columnar brush border
epithelium ang jpcreases the surface area for
reabsorption,

In the-light'of the above statements, choose the

correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement 1 and Statement II are false
(3) Statement | is true but Statement II is false
(4) Statement] is false but Statement II is true

Which one of the following factors will not affect
the Hardy-Weinberg equilibrium?

(1) Genetic recombination

(2) Genetic dri

(3) Gene migration

(4) Constant gene pool

161 Which of the following is not a steroid hormone? .

(1) Cortisol

) Testosterone
3) Progesterone
(4) Glucagoh

162 Match List I with ListII ; _
List1 List I1

A. Non-medicated IUD L. Multiload 375

B. ' Copper releasing IUD 1L Pfﬂgestogens

C. Hormon® releasing IUD 1l Lippes loop

D. mplants , IV. ING.20
Choose ¢ correct answer from the optjong given
below

il B-1, C-11, DIV

(1 i_[, B-1l1, C-IV, D11

-(2) A-IV, B-L, C-IL, D-III
A, Bl C-1V, DL

[ Contq,_
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163 In both sexes of cockrog ‘ fjoi 1lcd
filamentous structures calq > & pair 0 prgsenl
- Alcereijare
(1) 5™ segment
(2) 10t segmentyy
(3) 8t and9th segment
(4) 11t seoment\ .
16}/ Match List T with .LlSt IT .24
/ & by Dy, L
Y B TAplony gl Expiratory reserve
capacity Volume + Tidal
Volume +
9 Inspiratory reserve
. Lo Volume
B. Functional w, IL Tidal volume +
residual !'f ; Expiratory reserve
capacity b volume
C. Vital capacity 0\3' ML Tidal volume +
:*‘J Inspiratory reserve
0 volume
D. Inspiratory IV. Expiratory reserve
capacity volume + Residual
volume
Choose the correcf answer from the options given
below : i
(1) A-II, B-IV, GT D-11
Q)AmBMGWDI
() A-IL B-I, C-'v DI
(4) A-IB- III, C4I1; D-IV
iﬁ,
165 Match List I with ListIl:
List I List IT
A. Pons . L. Provides additiong)
(4 space for Néurons,
Iy regulates posture

B and balance.
B. Hypothalamus“ II. Controls

= respiration an.d
txJ - gastric secrgtmns.
C. Medulla Wy Il Connects differen
“ regions of the
brain.
D. Cerebellum IV. Neuro secretory
. M cells :
Choose the correct answer from the options Bivey
below :

£
_/)fA 1, B-111, C; D-1v
() Amawcum
(3) AIBIHCUD!V
4) AIIBICUJ'DW

Q4 ~English ]

166

167

|24 .

/(})/Statenierlt [ is true but Statemmm“t

Given below are two statemcm,'

Statement I : The presence of aby,
isnot a rellame indicator of ""fg| “of h)rﬁ_

Statement II The hymen 1S tom,

dl—T.
coitus only. mglhcﬁr;

In the llghtLoY the above stateme, e
correct ansyer from the optiong Bivg ;"“ the
"J:
(1) Both Statement I and Statememl
.B h la
|
(2) Both Stafement I and Statememl%l&e

4) Staten}\ent [ is false but Statemmn

&

The following diagram showing RSt g

in E.coli cloning vector pBR322, Find ber:
‘X’ and ‘Y’ genes :

(1) The gene ‘X" is responsible fcrrﬂﬁ‘:ﬁ
al'lt]bl(SﬁES and *Y” for protein M

rephcatlon of Plasmid.
t q rﬁ‘“mlh
The gene *X” is responsible fo ol
the copy number of the linked DT:SI
for protein involved in the ©"

Plasmld

L\hedl
() The gene ‘X’ is for prolein i

11
replicdtion of Plasmid and ‘1"

to ann'bu?mcs s

g
(4) Gene g\”‘ls reSponsﬂ:Jleforﬂfc']a piot"
and ‘W is responsible fof
resistance, y
ot

. llegedunias
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168  Which one js th

dependent RNA

¢ correct product of DNA
polymerase to the given

template?

3’ TACATGGCAAATATCGATTCAS’
(1) 5°AUGUACCGUUUAUAGGUAAGU3’
(2) 5’AUGUAAAGUUUAUAGGUAAGU3’
(3) 5’ AUGUACCGUUUAUAGGGAAGU3’
5 ATGTACCGTTTATAGGTAAGT3®

169 Which of the following are Autoimmune

disorders?

Myasthenia grayis | *;

: . sl A
B. ~Rheumatoid arthritis &

C. Gout

__D—Muscular dystrophy {:«;
Systemic Lupus Em]li’éﬁatosus (SLE)

" E.

Choose the most appropriate answer from the

options given below : "
(1) A,B&Donly  if}
@ A.B&Eonly i
e i-ﬁl
(3) B,C&Eonly gt
(4) C,D&Eonly 0
]
170 Match List I with List II :
(¥,
List I | 1 [l;,lst II
A. Pterophyllum 1. [ 'Hag fish
(%
B. Myxine L. ;éaw fish
C. Pristis 11 f-“};ingel fish
D. Exocoetus IV, Flying fish

Choose the correct answer from the options given

below :

. :
(1) ALB, Cn DY
(2) AL, Bl C-I1, DV
(3) AV, B, G-Il DL
(4) A-IlL, B-II, C-L, D-IVED

Q4_English |

Lo

ety
4V

&

o]

RS

)

25

[N e
p
il quw:ZS:.ill?: e two statements : one is labelled
izcason Riy; " nd {llh‘c other is labelled 35
Assertiony

lg’“ 'l .
female'and *FSH a § Lpon ovarian follicles 1N
Reason R \eydig cells in male.

e \ o |

trogen 'Gmwmg:q\"arian follicles secrete
esdm e n'l female Whﬂé interstitial cells secrete
correCl answer from the options given below :

(1) Botha and R arerfrue and R is the correct

eXplanation of A

Wh Aand R dre true but R is NOT the

172

(1) AVBIL

&
D

correct explanation of A.
(3) Adstrue but R i§false
(4) Adisfalse but R {&true
(Xe)

Match List [ with List II :
List] W»‘List I
A. Lipase L. iPeptide bond
B. Nuclease . II. >Ester bond
C. Protease III.(\_{_}rl_yEggi_(iri_gjgggg
D. Amylase IV. =jPhosphodiester bond

Choose the conieqt an%ﬁer from the options given
TG

below : i
C-II1, D-1
2) A-ITT, B-IL, C-l, RW
3) Al B-IV, C-I, Q-}ll
(4) AdV,B, CILIDAI

0
pist ] with LisPll
173 Matc.iht 1 3 ListIl
Llsoneme L) Centriole
g. gxrnvheel II. Cilia and flagella
. Ca

ermn '
ﬂ_/_(ﬂu__ Chromosome
g :
. Crl % I{1V. Mitochondria
fe . X
. Sa (he correct ad_swer from the options given
Choose N

belo® " g, C-IE -

-

M A'N’ B-ILQ_'UJ”_",:D"
-/Cir’/ 1, BV, C-L DI

(3; i-ll- g1, C-1V, D-1II
“
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174 Match List Twith List 1y .

List I

(Sub Phases of

Prophase I)
A. Diakinesis I.
B. Pachytene 11.
C. Zygotene 1.
D. Leptotene IV.

List 11

Specific
hareqers)
Synaptonemal
Compley forma!?"
Completion of
terming]isation ©
Chiasmata
Chromosomes
look like thin
threads
Appearance of
‘Técombination
nodules

Choose the correct answer from the options given

below :

(1) A-IV, B-II, C-III, D-I
(2) AL B-IL, C-IV, D-IIT
Q)AL B-IV, C-L, DI

(4) A-IV, B-III, C-II, D-I

——

175 Consider the following statements :
A. Annelids are true coelomates

B.

Poriferans are pseudocoelomates

C.  Aschelminthes are acoelomates
D.  Platyhelminthes are pseudocoelomates
Choose the correct answer from the options give

below :
(1) Bonly " (2) Aonly
(3) Conly (4) D only
176 Match List I with ListII :
List I List IT
A. -1 antitrypsin 1. Cotton bollwory,
B. CrylAb _II.  ADA deficiency
C. CrylAc I,  Emphysema
_D. Enzyme IV. Corn borer
replacement
therapy
Choose the correct answer from the options gy,
below : ' !
() A, B, C-IV, D-111
) A, B-1, C-11, ppv

B)—Ad1, B-1v, C-I, D-11

@ AL B, ¢ By

Q“__English ]

177 Match List I with List II :

List I List 11
A. Fibrous joints . Adjacen
vertebrag, limited
movement
B. Cartilaginous II.  Humerys ang
joints Pectoral girdle,
rotational
movement
C. Hinge 1. Skull, don’t
joints allow any
movement
D. Ball and IV. Knee, help in
socket joints locomotion
Choose the correct answer from the options given
below :

(1) A-IV, B-II, C-III, D-I
(2) - A-L, B-III, C-II, D-IV
(3) A-IL B, C-I, D-IV

@ A-ILB-L, CIV, D-11

178  Three types of muscles are given asa, bandc.
Identify the correct matching pairalong with their

location in human body :

Name of muscle/location
1) (@
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)

Smooth - Toes
Skeletal - Legs
Cardiac - Heart.
Skeletal - Triceps
Smooth - Stomach
Cardiac - Heart.
Skeletal - Biceps
Involuntary - Intestine
Smooth - Heart.
Involuntary - Nose tip
Skeletal - Bone

(2)

3)

(4)

(¢) Cardiac - Heart.

O H
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179 Match Lig | with List 11 :
List I

List 11
A. DO\\']] S S}nd“\I]]e L ‘“lh )
B a-Tha : chromosome
1alassemia I Xl
C pris + "X chromosome
- P-lhalassemis ;
i semia 1. 218 chromosome
- Klinefelter's V. 16" chromosome
sy ndrome
Choose the correc '
S orrectanswer from the options oi
below : reen

(1) A-L, B-11, C-IIL D-1v
(2) AL, B-IIL C-IV, D]
(3)  A-II, B-IV. C-1, D-I1
(4) A-IV, B C-II, D-II1
180 Which of the followi ng factors are favourable for
the formation of oxyhaemoglobin in alveoli?
(1) High pO, and High pCO,
23 High pO, and Lesser H* concentration
(3) Low pCO, and High H* concentration
(4) Low }.)COZ and High temperadture
181  Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent)
A. Homo habilis
B. Homo sapiens :
C. Homo neanderthalensis
D.. Homo erectus_
Choose the correct sequence of human evolution
from the options given below :

(1) D-ACB -2y B-A-DC
(3) C-B-D-A (4) A-D-C-B
182 Match List I with List 11 :”
List I  Listll
A. Cocaine I.  Effective sedative in
surgery
B, Heroin [I. Cannabis sativa
C. Morph‘me i 1L Erythroxylum
D. Marijuana IV. Papaver somniferum
Choose the correctanswer from the options given
vl “;;IVBIII c-1, D-1I
2) A- 1, B-11I, C-I1, D1V D-1V
A-I1, B-1, C-I11, DIV
@) AL BV, C-L DI

W_English ]

27

ll b L‘IO“
\qscru

g3 O

' . :
©Wa statements : one is labelled

l %U“ R and the other is labelled a5
Res

(v)
Mfeeding during initial period
is Fecommended by doctors for

Assertiony, tBreg
of infant groy |
hrlﬂg"‘l:- a h‘fﬂllh

sonR:
Red CO]OSlﬂrﬁ"rcont'uns several antibodies

absolutely essentiaf fg develop resistance for the
new born bapy,

In the light of e ve statements, choose the

most APPropriate apsyver from the options given
below : I~

othAandR C\?correct and R is the correct
explanation of A.

, L
(2) BothAandR ail?e correct but R is NOT the
correct explanation of A.

(3) A iscorrect b‘ng R is not correct.
(4) A isnot core€Tbut R is correct.
0N

m - .
Which of the following is not a natural/traditional

contraceptive method? -

184

(1 Conusmterruptps
0
(2) Penodlc abstipence

3) Lactational al]%’porrhea

Mults

0
\0

185 The “Ti plasnlld of Agrobacterium tumefaciens

_ stands for (¥ ‘

() Tumour illhlllll_lng plasmid

) Tumor indel@thenl plasmid
101 mduci’ng plasmid
B Mg
(4) Telnperatllre |I'ldcpe"den[ P|ﬂsm|d

[ Contd...
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187

188

Zoology : Section-B (Q. No, 186 '@
Al

186 Match List Lwith Lisg 1 :

ist] .
l: " LISI " [.
A. Exophthalmic I Ex a0
‘ roiter Aess seerell® g
- €Ortiso), moon
YPerglycemid
B. Acromegaly I1. gl

YPo-secretiof "
Fthyroid llonno-tl
and sty qed 51"0“'[ '

C. Cushing’s I11. YPer secretion
S}'ndrome Oﬂh}'l'oid hormonﬂ .
o pmtﬂlding eye bﬂl S.
D. Cretinism V. Xcessiye secretion
of growth hormore.
Choose the correct answer from the options given
below : '

(1) A-I, B-III, C-II, D-1v
2y A-IV, B-IL C-I, D-Ijp
'Jér))’ A-IIL BV, C-II, D
(4) A-IIL, B-IV, C-I, D1

Given below are two Statements -

Statement I : Mitochondria and chloroplasts are
both double membrane bound organelles,
Statement I1 : Inner membrane of mitochondria
is relatively Jess permeable, as compareq to
chloroplast, '

In thelight ofthe above statements, choosethe mogt
appropriate answer from the options given beloy :
(1) Both StatementIang Statement Il are correct,

(2) Both Statement I and Statement | 4y,
incorrect,

—B37" Statement I is correct but Statement || ;g
incorrect.
(4) Statement | is incorrect but Statement || is
' correct,

Regarding catalytic cycle of an enzyme ay;
select the correct S€quential steps:
A.  Substrate €Nzyme complex formation,

B. Free €Nzyme ready to bind with anothe,
Substrate,

Release of products,

Chemical bonds of the substrate brokey,
Substrate binding to active site. :

Orrect answer from the options Bivey,

on,

C.
D.
L

Choose the ¢
clow -

) EAD g

189  Match List [ with Lis¢ g rel
of cockroach,

190

Aed log,

i
'r.--.

List I
I_E“'[

'r.
Ly
a4

The structures used I

for storing of foo(.

Ring of 6-8 blind I,

tubules at junction of r

%

foregut and midgyt,
Ring of 100-150 ye]joy I,
coloured thin |
filaments at junction of
midgut and hindgut,

The structures used I\ (z
for grinding the food. o

Choose the correct answer fromt:

WPt freg
below :

(1) A-IV, B-II, C-TIT, DI

(2) A-L B-II, C-II1, D-1vV

(DA B CIL D1

(4) A-III, B-I1, C-1V, D-I

”
X " \H'.m"
The following are the statemens®™
chordates :

Pharynx is perforated by gill /&
Notochord is absent.

A

B

C.  Central nervous system is dors!
D.  Heart is dorsal if present.

E

Post anal tail is absent. L gl

[
5 i5he
Choose the most appropriate &
Options given below

(1) A &cConly
(2) A,B&Donly
G) B,D&Eonly’

4) B,c&D only b
|[
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Mﬂlch L

i Choose the correct o I ity 1y I:

rcgardihgjllxta lnedullnrl;'l:::]l}?::(lnfwe“ ueiow | 1 Lis! j List 1l

. illXta medullary nephrons are located in the ‘ M Era . [..r)wcr inverichrates
Olumns of Bertini. B. proterozoje ;. II. Fish & Amphibia

@ F?:;]?l corpuscle Uf.i,lma medullary nephron c. CenoZicty, II.I. I]i‘rds & Reptiles

. In the outer portion of the renal medulla, D. paleozoic g, IV. Mammals

Loop of Henle of juxta medullary nephron
runs deep into medulla,

4) Juxt_a medullary nephrons outnumber the
Cortical nephrons.

Choost “'BCOIchtanswcr from the options given
bclow .

(1) AILBY ey, pory

@) ALBY cp, pav

(3) A-LBLCy, D1

92 Given belo tw :
1 W are two statements ; (4) A-IH, B, C-1v, D-II

Statement I : The cerebral hemispheres are

connected by nerve tract known as cor
callosum. pus 195 As per ABO blood grouping system, the blood

. . . i . + ild is
Statement I1 : The brain stem consists of the grfup Offather IS,B , mother is A™ and chil
medulla oblongata, pons and cerebrum. O Their respective genotype conbe

. B' A- . .
In the light of the above statements, choose the _y]__a___.__-l“ /i L% ¢

most appropriate answer from the options given B IBIB i
below : CJABHITTBY
(1) Both StatementIand Statement Il are correct. D. - JAi /1B HAT—
(2) Both Statement I and Statement II are E__ilBAHAHAIB—
incorrect. Choose the most appropriate answer from the
(3) Statement I is correct but Statement II is options given below :
incorrect. _ .(,l—)/Aonly y (2) Bonly
(4) Statement I is incorrect but Statement II is (3) C&Boly (4 D&Eonly

correct.

196 Given below are two statements :

. - i II: w L
IR MatchList[with List Statement I Gause’s competitive exclusion

List I List I1 . _
A. Pwave I. Heart muscles are principle statcs that two closely related species
¢ electrically silent. competing for different fesources cannot exist
B. QRScomplex 1L Depolarisation of indefinitely. |
Ve"t“c"fs' ' Statement 11 : According to Gause’s principle,
C. Twave 111. [ie.polansanon of duri“gcompctition,lhe inferior willbe eliminated,
e P V. ?Itr::lnlarisation of This may be ifresources are limiting,
ventricles. In the light of the above statements, choose the
Choose the correct answer from the options given | — answer from the optious given below -
below : (1 Both statement | and Statement 11 are true,
(1) AL B-111, "CJ(;-‘I]V\:r ]:I;I: 5 Boll Statement Land Statement 1l are f3)gq.
& N c1pv o sy 1t St s
) A-1V, B-1I, C-I, D-11I Mcmcnl Lis false but Statement 17 jg true.
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197 Given below are two g,

/U,)/Both StatementIand Statem ent 1] are o<t

198 Match List I with List II 05

. =
ListI m List IT
A. Unicellular glandular i Salivary glands
epithelium
3
B. Compound epithelium 1Al Pancreas
Multicellular "::‘iiﬂ. Goblet cells of
(Y

;“.E‘n]enl‘\
Statement I : Bone marroyy ;
organ where all blood cells iy ing|

are produced, L)

Statement II : Both bone;m

is
Marrgyy gnd "
provide micro enVITOIllllentsf OF the de Iop“‘f”
ve

and maturation of T-l_\,'mph,h.cyt

Inthe lightofthe ¢ qbovestatemems " sethe'“"
100

appropriate answer from the Optiong gwenbcmw

)
(2) Both Statement I gnd Statement Il 3¢

incorrect. (G

‘-.%:

3) Statement I is correctbyt Statement Il 1S
incorrect. 0

(4) Statement I is incorrect byt Statement Il is
correct. £vy

1)
™

glandular epithelium =}’ alimentary cana|

Endocrine glandular ;:LV Moist surface of
epithelium buccal cavity

Choose the correct answer from the options givey

Fory

below : U,
(1) A-II, B-1, C-I1I, D.Ii} :
(2) A-1V, B-III, C-l, Dlr!
(3) A-1II, B-1V, C-l, Dll,

199

200

(4) A-II, B-I, C-1V, D-III"_

Q4__English ]

300

Match List I with List I

List I Li
(") My
A. RNA polymcrasq[l, sni
A
' o 1‘:l
B. Terminationof & ‘
)
transcription In. Proy,
C. Splicing of Emn_ii; I Rhop,
D. TATA box V. Sy,
irl :
Choose the correct answer fromthe0 W
below : ) My

i

(1) AL B-1V, CdyD-III

@ AL, B-II,IC—EI%S& DI
() A-IL B-IV, CLD-II
(@) A-IV, B, C-I, D-II

") .
Identify the correcti?}}tlon (A), (B),(0), i
respect to spermatqggnesis.
N
ﬂqi
{(¥GnRH
[(Fall|
| = L
LH W= 5
4 , !
B) ) © Sv
1 i !
S Factors
Androgens a
J'g. N !
Formation of sperm a%i"f}iv. W
0
O
y/(SH Leydig cells, Sertoli cells,
sperrmogenesus
(2) ICSH, Intersiltlial cells, Leydigee®
spermlog,enefls
(3) FSH, Sertolicells, Leydig cells:
spermatogenesﬁs
G
(4) ICSH, Leydigjgells, Sertoli cell*
spermatogenesis.
Icuﬂ'd"'
|
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